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CHEMICAL BONDING

Elementary Questions Tick The Correct Choice

Amongst The Following

1. Chlorine atom and chloride ions



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GvZ1y7ubA9uA

A. have an equal number of protons

B. have an equal number of electrons

C. form covalent bonds

D. react spontaneously with water

Answer: a

o Watch Video Solution

2. When sodium reacts with fluorine,

A. each fluorine atom loses one electron


https://dl.doubtnut.com/l/_GvZ1y7ubA9uA
https://dl.doubtnut.com/l/_zOOmTW7QNUSf

B. each sodium atom gains one electron

C. a covalent bond is formed

D.the compound formed is a good

conductor of electricity in the molten

state

Answer: d

° Watch Video Solution

3. Noble gases exist as individual


https://dl.doubtnut.com/l/_zOOmTW7QNUSf
https://dl.doubtnut.com/l/_oKmrAMD7iuvr

A. atoms

B. molecules

C.ions

D. compounds

Answer: a

° Watch Video Solution

4. An ionic bond is formed when

A. the combining atoms gain electrons


https://dl.doubtnut.com/l/_oKmrAMD7iuvr
https://dl.doubtnut.com/l/_qzozccdxfZq4

B. the combining atoms lose electrons

C.a metallic element reacts with a

nonmetallic element

D. two metallic elements react

Answer: C

o Watch Video Solution

5. Electropositive atoms tend to form

A. negative ions


https://dl.doubtnut.com/l/_qzozccdxfZq4
https://dl.doubtnut.com/l/_CaMdVnklq3U6

B. positive ions

C. covalent bonds

D. metallic bonds

Answer: b

o Watch Video Solution

6. Which of the following can lose two

electrons to attain the configuration of argon?

A. Mg


https://dl.doubtnut.com/l/_CaMdVnklq3U6
https://dl.doubtnut.com/l/_DaujO2KwkUL0

B. Br

C.S

D. Ca

Answer: d

o Watch Video Solution

7. Electrovalent compounds are usually

A. solids with low melting points

B. solids with high melting points


https://dl.doubtnut.com/l/_DaujO2KwkUL0
https://dl.doubtnut.com/l/_hg1R4WWgTmqA

C. volatile liquids

D. organic compounds

Answer: b

° Watch Video Solution

8. Which of the following statements is

wrong?

A. an atom is electrically neutral


https://dl.doubtnut.com/l/_hg1R4WWgTmqA
https://dl.doubtnut.com/l/_auSlkDUUKwSR

B. the size of a cation is smaller than that

of the corresponding atom

C. the size of an anion is bigger than that

of the corresponding atom

D.an atom and its ion have an unequal

number of protons

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_auSlkDUUKwSR

9. In electrovalency,

A. molecules lose electrons forming atoms

B. molecules gain electrons forming atoms

C. atons share electrons

D.atoms lose or gain electrons forming

ions

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_PlFnMMSoz8L7
https://dl.doubtnut.com/l/_Fqvc6p9veGBk

10. A volatile solid soluble | n benzene would

probably

A. have electrovalent bonding

B. have covalent bonding

C. be a good conductor of electricity

D. be a salt

Answer: b

o View Text Solution



https://dl.doubtnut.com/l/_Fqvc6p9veGBk

11. A double bond between two carbon atoms

is formed by

A. the transfer of two electrons from one

carbon atom to the other

B.the transfer of one electron from one

carbon atom to the other

C. two shared electron pairs

D. the sharing of two electrons

Answer: c



https://dl.doubtnut.com/l/_UE5QLIzwu9Ec

| QP Watch Video Solution

12. Which of the following indicates that the
bonding in hydrogen chloride is covalent ?

(i) an aqueous solution of hydrogen chloride
form hydrogen with metals

(i) hydrogen chloride is a gas

(i) hydrogen chloride is not acidic in the
absence of water

(iv) dry hydrogen chloride is a non-conductor

of electricity


https://dl.doubtnut.com/l/_UE5QLIzwu9Ec
https://dl.doubtnut.com/l/_h0k0xBy76nhC

A. (ii), (ii1) and (iv) only

B. (i), (i1) and (iii) only

C. (i) and (iv) only

D. (i), (ii), (iii) and (iv)

Answer: a

o Watch Video Solution

13. Which of the following is a non-polar

molecule?


https://dl.doubtnut.com/l/_h0k0xBy76nhC
https://dl.doubtnut.com/l/_Xypjaf09L6IM

A NH,

B. NaCl

C.CCly

D. H,O

Answer: C

o Watch Video Solution

14. The bonding in ammonium chloride

A.is covalent only


https://dl.doubtnut.com/l/_Xypjaf09L6IM
https://dl.doubtnut.com/l/_2TK666SWclho

B. is electrovalent only

C.consists of three covalent nitrogen-

hydrogen bonds and an electrovalent

bond between the ammonia molecule

and the chlorine atom.

D.consist of four covalent nitrogen-

hydrogen bonds and one electrovalent

bond between the ammonium ion and

chloride ion.

Answer: d


https://dl.doubtnut.com/l/_2TK666SWclho

° Watch Video Solution

15. Which of the following is a non-directional

bond?

A. covalent

B. electrovalent

C. coordinate-covalent

D. none of these

Answer: b

| 8 l


https://dl.doubtnut.com/l/_2TK666SWclho
https://dl.doubtnut.com/l/_9ROVAuYrBhGp

16. Which amongest the following has smallest

size ?

A. Na

B. Al

C.Na™

D. APt

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_9ROVAuYrBhGp
https://dl.doubtnut.com/l/_noM48px3DOwy

17. Which amongest the following has largest

size?

A Al

B. AT

C.Cl

D.Cl™

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_noM48px3DOwy
https://dl.doubtnut.com/l/_heXERwv6x7uw

18. Which amongst the following can lose 2

electrons to acquire the configuration of

argon?

A. N

B. Mg

C.Ca

D. Be

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_Ya4jQ6UrqT5P

19. Sodium atom and sodium ion

A. are chemically the same

B. have the same number of protons

C. have the same number of electrons

D. react spontaneously with water

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_1IQCoKOF3T2H

20. Two electronegative atoms combine to

form

A. ionic bond

B. covalent bond

C. coordinate bond

D. can't be predicted

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_Z9wegTmMscqA
https://dl.doubtnut.com/l/_sl5G1euGeFM9

21. Which amongst the following contains a

covalent bond?

B. CG,F2

C. Al,O4

D. HCI

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_sl5G1euGeFM9

22. An element with low ionization energy

combines with an element having high

electron affinity to form

A. ionic bond

B. covalent bond

C. dative bond

D. none of these

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_wketkmxlZ70t

23. Which amongst the following contains

double covalent bond?

B. Cy Hy

D. Cs Hy

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_Udfi08y6ChPa
https://dl.doubtnut.com/l/_FnKVZSO7mpAq

24.The actual formula of sodium chloride is

A. NaCl
B.Na"Cl™
C. (Na+Cl_)n

D. Na,Cl,

Answer: C

° Watch Video Solution

25. Which of these has a triple covalent bond?


https://dl.doubtnut.com/l/_FnKVZSO7mpAq
https://dl.doubtnut.com/l/_mUeVnpcec4RW

A PH,

B.CO,

C. AlCl,

D.CyH,

Answer: d

o Watch Video Solution

26. The number of covalent bonds in ethylene

IS


https://dl.doubtnut.com/l/_mUeVnpcec4RW
https://dl.doubtnut.com/l/_Wln1ZkLMFJ9v

A. 2 double bonds, 2 single bonds

B. 2 double and 4 single bonds

C. 2 single and 2 double bonds

D.1double and 4 single bonds

Answer: d

o Watch Video Solution

27. When an alkali metal combines with

halogen, it will form


https://dl.doubtnut.com/l/_Wln1ZkLMFJ9v
https://dl.doubtnut.com/l/_SyKkFd7CCvNN

A. always covalent bond

B. always ionic bond

C. may be covalent or ionic

D. will not combine at all

Answer: b

o Watch Video Solution

28. An element 'X' has an atomic number 11
while an element 'Y' has an atomic nhumber 17.

They are expected to form


https://dl.doubtnut.com/l/_SyKkFd7CCvNN
https://dl.doubtnut.com/l/_XPKo3slv5Dhu

A. an ionic compound with formula XY
B. an ionic compound with formula XY,
C. a covalent compound with formula XY,

D. a covalent compound with formula X%Y

Answer: a

o Watch Video Solution

29. Which amongst the following will not

conduct electricity?


https://dl.doubtnut.com/l/_XPKo3slv5Dhu
https://dl.doubtnut.com/l/_7ppR0YVYlZGC

A. NaCl

C. CCLF2

D. Cﬁle 06

Answer: d

° Watch Video Solution

30. Which amongst the following has a polar

covalent bond?


https://dl.doubtnut.com/l/_7ppR0YVYlZGC
https://dl.doubtnut.com/l/_eszqIBWvmZ8T

A. NaCl

B. NH;

C. O,

D. CaO

Answer: b

° Watch Video Solution

Higher Order Thinking Questions


https://dl.doubtnut.com/l/_eszqIBWvmZ8T

1. Which of the following molecule involves

electrovalent bond?

A. H,

B.CH,

C. CaClz

D.H — Cl

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_NEY88pT2pj1I
https://dl.doubtnut.com/l/_vFS7uoFRhjwE

2. The tetravalency of carbon is explained by

its

A. ground state electronic configuration

B. excited state electronic configuration

C. catenation property

D. having only two shells

Answer: b

° View Text Solution



https://dl.doubtnut.com/l/_vFS7uoFRhjwE

3. Octer rule is not violated in case of

A.CH,

B. BF,

C. SF,

D. AlCl,

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_9v9IHRupIR9Z

4. A true covalent bond is formed by

A. transfer of electron from one atom to

the other

B. mutual sharing of electrons

C. one sided sharing of electrons

D. none of these

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_lOzsolxB7FLn
https://dl.doubtnut.com/l/_vdkuAdSEcwSb

5. In forming compound AB, an electron is

transferred from A to B then

A. A is divalent

B. B is oxidised

C. A and B are covalently bonded

D. AB compound is ionic

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_vdkuAdSEcwSb

6. Which of the following compound is an ionic

compound ?

A. 503

B. ICI

C. Kl

D. CHCl,

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_vIL2mIezlr2P
https://dl.doubtnut.com/l/_kpOT8JaQ6Btw

7. When a chemical bond between two atom is

formed, the potential energy of the system

A. decreases

B. increases

C.remains the same

D. cannot be predicted

Answer: a

o View Text Solution



https://dl.doubtnut.com/l/_kpOT8JaQ6Btw

8. Which one is appreciably soluble in water

A.CS,

B. C, H:OH

C.CCly

D. CHCl;

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_Lkyk6IP1uUIw

9. Which of the following molecules has

hargest bond angle ?

A.H50

B. NH,

C.CO,

D.CH,

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_0lqkvXAfw2KL
https://dl.doubtnut.com/l/_onC94Mkf8SkJ

10. The number of covalent bonds present in

ethylene is

A5

B.7

C.6

D.4

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_onC94Mkf8SkJ

